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INTENSITIES OF MUONIC X RAYS IN LEAD,
THORIUM AND URANIUM
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natPh intensities

Intensities of radiative muonic transitions
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natPb lines fit by double_gauss function

oct 20 data
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Combine fit with ®°Co and %Y (wrong)

Ge2 relative efficiency
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Combine fit with °Co and %Y

(exclude 429-441keV point)

Ge2 relative efficiency
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TODO:

* Recheck ™P’b intensity points

» Add M?Eu data

* Use intensities from fit with improved peak function
* Check carefully different functions for efficiency

* Analyze data for other HPGe detectors
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